ALGEBRA  I  EXAM 2.1 Part I
1. Solve each inequality. Graph the solution

(a) |j| – 2 ≥ 6
(b) -2|3j| - 8 ≤ -20

2. Write and solve an absolute value inequality that represents the situation:

Leona was in a golf tournament last week.  Her goal is to be within 2 strokes of par.  If par was 72, write and solve an absolute value inequality to represent the range of scores that Leona can shoot.  
3. (a)
You have 10 CDs.  That number doubles every year.  (i) Write an equation to model the 
situation.  (ii) How many CD’s will you have after 7 years?

(b)
A town with a population of 5,000 grows 3% per year.  (i) Write an equation to model the situation.  (ii) How long will it take for the population to exceed 50,000?
(c) The half-life of a proton is 6 months.  How much of a 60 gram sample of the proton will be left after 2 years?

4. (a)
Given the recursive formula tn = tn–1 – 6, t1 = 0, find t4. 

Questions (b) and (c) are Multiple Choice

[image: image1.png]b) Mr. Carlson suffers from allergies. When
allergy season arrives, his doctor
recommends that he take 300 mg of his
medication the first day, and decrease the
dosage by one half each day for one week

doses for the week?

@ f(1)=300s(%)"" !
@ f ()= ()1

@) £ (1) = 300 + (Ya)n
@) f(n)= (%)

©  To the nearest milligram, what is the amount of medication Mr.
Carlson will take on the 7t day?

@ 19 mg (i) 9 mg (ii)38 mg @) 5mg




5.
Use the map to answer the following. Show your work.

a. City contractors would like to build a library on a road that is parallel to Hope Road at the 

    indicated spot.  They will call that street Peach Street.  What is the equation on Peach Street?

b. City contractors would like to build a gym on a road that is perpendicular to Elm Street at the 

    indicated spot.  They will call that street Power Street.  What is the equation on Power Street?
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Questions 6-7 are Multiple Choice.
6.
Which of the following relations is a function? 




(1 point)
	
	A.
	
	(1, 4), (-1, 2), (6, 1), (-8, 2)


	
	B.
	(1, 4), (-1, 6), (1, 3), (-8, 2)


	
	C.
	(6, 1), (-1, 4), (1, 1), (6, 2)


	
	D.
	(1, 0), (-1, 3), (6, 1), (-1, 5)


7.
Which of the following represents a relation and not a function? 


(1 point)
	
	A.
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8.
Tell whether each graph represents a function.




(2 points)




A.



B.
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C.



D.
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(e)
                                                                         (f)
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9.
[image: image9.png]1.2.3.4}and ¥ = {5,6,7.8,9}. f and g are defined below.

gxov Fx=y
9=(D.25.GO.ET) F=(15).2:6).(18),2.9.3.7)

(@) 1s f a function? If no, explain why f is not a function

()15 g 3 function? 1 no, explain why g is not  function.

(€) whatis 2(2)?

()1£20x) =5 , then what might x be?




10.
Suppose you invest $1500 in an account paying 4.75% interest.  Find the account balance after 25 years with the interest compounded quarterly.
11.
Jake wrote the function f(t) = –2 + 3t2 – 4t.  Evaluate f(-8).
[image: image10.png]12. Regard the solid dark equilateral triangle as Figure 0. Then, the firstfigure in this sequence is the one
mmposed of three dark triangles, the second figure is the one composed of nine dark triangles, and so

ALLAL

Figure 0 Figure 1 Figure2 Figure 4

How many dark triangles are in each figure? Make a table to show this data.

n (Figure Number)

T (# of dark triangles)

b, Given the number of dark triangles in a figure, describe in words how to determine the number of
dark triangles in the next figure.

Create a function that models this sequence.





[image: image11.png]13. Jamie has a plan to save money for a trip. Today, she puts 5 pennies in a jar. Tomorrow, she will put
the iitial amount in plus another 5 pennies. Each day she will put 5 pennies more than she put into the jar
the day before, as shown in the table.

Let £(d) represent the amount of pennies she puts into the jar on day d. What does £(10) = 55 mean?

o[1]2]3
5 [10]15]20





[image: image12.png]14. Matthew has a job where his daily pay P, in dollars, is given by the function P{A) = 15h, where h
represents the number of hours worked that day. Last week, he worked 2 hours more on Tuesday than he did
on Wednesday. If he worked ¢ hours on Tuesday, explain that the following mean:
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